ITI Turner 1st Year Module 4 Cutting tools & Measuring instruments

(1). What is the name of instrument? | SUd XU h[ HTH H] %?
/m —8 [ 1 o

(A) Digital micrometer | fSfSred A HIHIER
(B) Vernier micrometer | WW
(C) Tube micrometer | Eﬂﬁmﬂ

(D) Depth micrometer | @WWH

Correct Answer : A

(2). Why the rake angle is provided? | 3% BT 1 UGH %CITGI'IFIT%?

(A) Prevent rubbing action | RIS REEIE %%I'Q
(B) Strengthen the cutting tool | T ISR DI YGadl UG HR & g

(C) Permit clearance between tool &work | 3NOIR 3R BT & o HdDIR[YUald
& o folg

(D) Control the chip flow and geometry of chips | ﬁm%m 3R ST ot
frifia e & fag

Correct Answer : D

(3). Which one is Non-Metallic tool material? | P T TR- YT 3R HITFJ?[%

?



(A) HSS

(B) HCS

(C) Diamond | STIHS

(D) Alloy steel | 3G Td

Correct Answer : C

(4). What is the property of tool material to resist sudden shock load? | 3P

YTehT HR BT UfeRIY B BT 3SR If &7 T[0T HEardl 82
(A) Toughness | AHSTA

(B) Hardness | PRdl

(C) Ductility | d=UdIl

(D) Elasticity | UIRAT

Correct Answer : A

(5). Which is the suitable instrument for fast checking the length of part? | foret
YN D1 AaTs ol F STia- o [l 1 T STGaRT SUBRUT g2

|
l I

F—H—H

|

102+0.5

(A) Digital vernier caliper | fgfSred af iR BfaR
(B) Steel rule | T =d

(C) Micrometer | Wﬂa




(D) Digital micrometer | %ﬁl?ﬂrﬂgﬁjﬂa

Correct Answer : A

(6). What is the instrument shown in figure? | ﬁaﬁﬁ“@mws@'c’w%?

(A) Tube micrometer | &}Jd J-IISQI’J\IJ-I“ICQ

(B) Digital micrometer | fSToTed AGHIHIER

(C) Outside micrometer | W'ﬁlﬁﬁ'ﬁﬂa
(D) Stick micrometer | thgﬁiﬂa

Correct Answer : A

(7). How to check the error in higher range (25-50 mm) of micrometer? |

A AR B 3 A07 (25-50 Faeh) H Ffe o1 o o B2
(A) Using wooden piece | ol & gdhs ol TN

(B) Using test piece | ¢¥C U &1 SUTANT BT

(C) Using steel rule | TTd ¥d BT IUART HRAT

(D) Using calipers | aTTY BT SUINT HRAT

Correct Answer : B




(8). What is the name of the tool? | 3NOIR W:I'IT[?RIT%?

oofr

(A) Parting-Off tool | gfém 3‘|:|J".3|'731|GR
(B) Knife-edge tool IH@W&:HR
(C) Cranked turning tool | é@T@QIG 3R

(D) Wide nose square turning tool | Eﬁ?ﬁ qlh an?@NIC'( 31:|G||€

Correct Answer : A

(9). What is the reading of vernier caliper? | WWWWW%?

2 3 4 5 6
tummmnma&mum
T I
(A) 1.5mm
(B) 15.00mm
(C) 15.05mm
(D) 15.50mm

Correct Answer : B

(10). What is the cutting speed if diameter=25mm and rpm(N)=15287 | BT

Tfis 18 afe oy = 25 At 3R rpm (N) = 1528 82



(A) 100 m/min
(B) 120 m/min
(C) 240 m/min
(D) 200 m/min

Correct Answer : B

(11). What is the name of the part marked as 'X'. | X'%Wfﬁ%ﬂ%ﬁ HHAT Hh[ [TH

(A) Anvil | Tfad

(B) Thimble | f¥sa

(C) spindle | USd

(D) Spindle lock | fISd Al

Correct Answer : A

(12). Which property avoid the breakage of cutting edge of tools? | ﬁqﬂT‘IUT

3SR & Heid YR & g J F91d Bl ?
(A) Hardness | HORAT

(B) Brittleness | 'J-PWT




(C) Toughness | Gadl
(D) Malleability | TaTdaef-taar

Correct Answer : C

(13). What is the use of tube micrometer? | R[d J-Il‘iq;ll-lnldi WB'CI@FTW%?
(A) Measure pipe thickness | Wﬁmﬂm

(B) Measure minor diameter | SIcT AN Bl AT
(C) Measure major diameter | WW@W
(D) Measure depth | JIEQIEEIITCFIT

Correct Answer : A

(14). What is the rpm of spindle for 50mm diameter workpiece and cutting speed

25 m/min? | 50 ot S T Ui iR S Ths 25 Hiey/fome & fou Risa
ermale%?

(A) 159 rpm
(B) 259 rpm
(C) 300 rpm
(D) 200 rpm

Correct Answer : A

(15). Which tool material have poor hardness property? | 5y MR IrrEf 1
HARAT U AF §?

(A) H.CS
(B) H.S.S



(C) Carbide | WTQ_S'
(D) Ceramic | Rfie

Correct Answer : A

(16). Which type of error the figure shows? | ﬁHWWﬁg@ GQIi(‘H %?

-
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(A) No zero error | ﬁégﬁ_ﬂ%qﬁ
(B) Negative error | Wﬁ%
(C) Systematic error | ﬁl@ﬁ%
(D) Positive error | Wﬁ%

Correct Answer : A

(17). What is the least of an outside micrometer meter having 50 divisions on
thimble and pitch of screw in 0.5mm? | oot qdigl J-IISQI’J\IJ-I“ICQ BT THD H
BT fordah Teitd H 50 YN 81 TdT ¥p 1 U9 0.5 mm ?

(A) 0.05mm

(B) 0.02mm
(C) 0.01lmm
(D) 0.001mm

Correct Answer : C



(18). What is the name the of part marked as ‘X’ in vernier caliper? | R

TR A 'x' & U H RIgd UM ST R A 82

| — s

81 2 3 « & & 7 B 9 19 11 12 18 14 10 18 17

(A) Beam | &tH

(B) Fixed bar | flheRs &R
(C) Depth bar | S TR
(D) Thumb lever | 4§ &R

Correct Answer : C

(19). Which among the tool material belongs to non metallic tool material? | ﬁl’ﬁ

T A B It SNSRIt 3rurq SR I 82
(A) H.S.S

(B) Carbide | HTESS

(C) Stellate | WdTSC

(D) Ceramics | RRTH®

Correct Answer : D



(20). What is the name of the part marked as ‘X’? | X ’%Wﬁﬁl‘%ﬁ HHAT hT ATH

(A) Spindle | FUsa &ffad

(B) Sleeve | Tl

(C) Thimble | f¥sa

(D) Spindle lock | fISd Al

Correct Answer : C

(21). Which angle marked as ‘X' in parting off tool? | qifé &Wgﬁmw
®I'x & T H RIfgd frar T g

X

(A) Side rake angle | HIQS 3P T
(B) Side relief angle | H@—gﬁ?ﬁtﬁ T




(C) Frontrank angle | The ¥ T
(D) Side cutting edge angle | %W"TW T

Correct Answer : B

(22). Which part of micrometer ensures a uniform pressure between the
measuring faces? | AP AR H fhd U o gIRT AU Badh| & T THh JHH
a9 g forar ST g2

(A) Anvil | 8T8

(B) Barrel | S¥@

(C) Thimble | fOFa

(D) Ratchet Stop | YTC 1T

Correct Answer : D

(23). Why the carbide can NOT be used as solid bit? | aaﬂmfs—smm%w
T U1 5] 1 Sl Yebel ?

(A) Due to its ductility | 3TPH! d-IdT & BRI

(B) Due to its brittleness | WW%W

(C) Due to its red hardness | m@m%m
(D) Due to its cold hardness | WWB@?%W

Correct Answer : B

(24). Which is the smallest measurement that is possible by vernier caliper? | ﬁ:[

T TYTH AT TIR HieroR  fordm Sir ¥4 g2
(A) Least count | 3cTHID



(B) Actual reading | Ardd U
(C) Main scale division | H’@[aﬂﬂTlﬂ"T
(D) Vernier scale division | iR YHTET HRT

Correct Answer : A

(25). What is the name of instrument? | SUD U] h[ ATH K] %?

{-"‘* {‘"‘*—j
L A
[RESTHY | ‘:a;
ez M ]

=/

(A) Ball micrometer | aﬁ'atngﬁiﬂa
(B) Depth micrometer | ?‘:'qua
(C) Flange micrometer | qﬁﬁm

(D) Stick micrometer | Red J-IISQI’J\IJ-I“ICQ

Correct Answer : C

(26). What is the formula to calculate depth of cut for round job while turning? |

i1 PR THY W3S T & U e P TERTS &1 UM R BT GHA R ?
(A) D-d/2

(B) d-D/4
(C) D-d
(D) D



Correct Answer : A

(27). What is the recommended cutting speed for mild steel using H.S.S tool? |

H.S.S TO BT SUAIT HRop HISTS TId o 107U SFRIRIT HicT TWie 1 g2
(A) 70 m/min

(B) 100 m/min

(C) 120 m/min

(D) 35-50 m/min

Correct Answer : D

(28). Which micrometer measure a sphere diameter exactly? | OP?I"I B3l J-IISQI’J\IJ-I“ICQ

TH TTdl & o Dl Tldh =0 I AU g2
(A) Tube micrometer | agmiﬂa

(B) Stick micrometer | Red HI‘&Q’;\“-I“IC'.‘{

(C) Ball micrometer | aid J-Il‘égl‘)\ll-lﬁldi

(D) Inside micrometer | 3dND J-IISQI’J\IJ-I“ICQ

Correct Answer : C

(29). Which property of the cutting tool the amount of hardness possessed by a
material at normal temperature? | @ 3ioTR AT 61 g T[0T ST WA a9
O TR H FHARAT DI HHT ST & HEAdl 82

(A) Ductility | d=ddI

(B) Toughness | EﬂIlS'EIT-[

(C) Red hardness | AT SRl
(D) Cold hardness | Rfid AR




Correct Answer : D

(30). How to correct the positive error in micrometer? | J-Il‘iq;ll-lnldi H YT

I DI o B B2

(A) Multiply the error | Ffc &I 0N 6
(B) Add the error | 3¢ SIS

(C) Substracted the error | Ff¢ I T/
(D) Divide the error | Ffc &I fauTiord &3

Correct Answer : C

(31). What is the formula for cutting speed(V)? | FHic e (V) Wﬂﬁ?ﬁﬂ%?
(A) DN/100

(B) mDN/1000

(C) nDN

(D) mDN/10

Correct Answer : B



(32). What is the name of micrometer? | @WWWW%?

(A) Depth micrometer | ?‘:'qua
(B) Inside micrometer | mﬁgmﬂ
(C) Vernier micrometer | El'ﬁﬂ?ﬂ'wa

(D) Outside micrometer | AT3CHITS Hl‘éw\ll-lnldi

Correct Answer : A

(33). What is the pitch distance of a metric micrometer spindle thread? | Iﬁ%

AreehHie] fsd g &1 fug fardt gidlt 82

(A) 0.01lmm

(B) 0.02mm
(C) 0.05mm
(D) 0.5mm

Correct Answer : D



(34). Name the part marked as ‘X’ in depth micrometer. | ‘IEQI'&E Il'maff’x’
& &U I faifgd YT &1 A1 S|

(A) Cap | ®Y

(B) Lock | i

(C) Stock | Wi
(D) Thimble | s

Correct Answer : B

(35). What is measured by the micrometer in the given figure? | %QTI'QﬁHff

T HeR SRT T HIUT SITdT 82
< W o
{ZP .

U\TB}:_?_;W&

N/

(A) Chordal thickness of gear teeth | fTOR & Gidi &1 Hled HIcTS
(B) Diameter of gear | TR &1

|

o g

173




(C) Thickness of gear blank | WWﬁJﬂ?ﬁ“
(D) Pitch of the gear | FTAR &1 fUd

Correct Answer : A

(36). What is the instrument shown in figure? | ﬁaﬁﬁ“@mwmw%?

iz
HELr

(A) Digital micrometer | fefored J-Il‘iq;ll-lnldi

(B) Screw thread micrometer | <P Q@’Hlsw“u-ﬂa

(C) Tube micrometer | &Jd Hl‘iw\ll-lnldi

(D) Depth micrometer | ?‘:'qua

Correct Answer : B

(37). What is the least count of a standard metric vernier caliper? | Wtﬂ%

IR BHEIIR BT Ul T 52
(A) 0.2mm

(B) 0.1mm

(C) 0.02mm

(D) 0.002mm

Correct Answer : C



(38). What is the purpose of side clearance given on turning tool? | WXIq Gilﬁlq
IR R3S ST BT FT I | ?

(A) To control the chip flow | ﬁu%mﬁﬁuﬁﬁmém
(B) To increase the production | Wﬁg@%ﬁﬂ
(C) Toincrease the strength of the tool | ﬁwﬁm&zﬂﬁq@mﬁ%fﬁu

(D) To prevent the tool from rubbing with work | 3R B Hrf IS CARIG

& ferg

Correct Answer : D

(39). What is the unit of cutting speed? | W%ﬁwﬁw%p
(A) m/min

(B) mm/rev

(C) Inch/min

(D) Foot/min

Correct Answer : A

(40). What is name of the part 'X'? | H'X’ W:I'ITWRIT%?




(A) Frame | loH

(B) Spindle | fGSd

(C) Thimble | s a

(D) Extension anvils | TaTC YA Tfded

Correct Answer : D

(41). What is the unit of feed? | qﬂ's’ﬁwrs‘am%?

(A) mm/min
(B) mm/sec
(C) mm/hr
(D) mm/rev

Correct Answer : D

(42). What is the principle of micrometer? | WWWW%?
(A) Sliding | T3S

(B) Screw and nut | @@l?:l?f

(C) Rack and pinion |3$3'?|Tﬁlﬁ'q:f

(D) Worm and worm wheel | aﬁsﬁvaﬁ%ﬁa

Correct Answer : B



(43). What is the name of the tool? | 3R W:I'ITIW%?

A

~

Yl

(A) Boring tool | T 3R

(B) Corner boring tool | ST IR SER

(C) Internal recessing tool | 3R JARAT 3R
(D) Internal threading tool | &Wqﬁeﬁw

Correct Answer : C

(44). Which instrument is advantageous of absolute zero setting? | ﬁqm

JUHRUN IRY I &1 FIRT B | ATHDBR] |7

(A) Digital micrometer | fefoted J-Il‘id;ll-lnldﬁ

(B) Vernier micrometer | Wmﬂ
(C) micrometer | W’Jﬂa
(D) shape gauge | PRI

Correct Answer : A

(45). Which is the example of ferrous tool material? | I AT HY SNSRI
B 3T 2
(A) H.S.S

(B) Stellate | @?ﬂ%—d



(C) Diamond | BRI
(D) Ceramics | IREEY

Correct Answer : A

(46). What is the name of the angle marked ‘X’? | x WWWWWW
IH garsd?

L

(A) Rake angle | 3B DI
(B) Point angle | ﬁgW
(C) Side clearance angle | HIgS HdDIR] Il
(D) Front clearance angle | 314 3BT DI

Correct Answer : D

(47). What is the function of thumb lever of vernier caliper? | IR BT &

TS TR T S FT 62

(A) For getting least count | W%ﬁ‘lﬁ

(B) To take internal measurement | WW@%%‘I’Q
(C) To take external measurement | WW@%%’Q

(D) To set vernier slide at any position | forat oft fufa A affaR WIgS e B
o fere

Correct Answer : D




(48). Which material is used in manufacturing of frame for an outside

micrometer? | WW%WW%WﬁWWW
SUTNT f T STTeT g2

(A) Alloy steel | EIEGELSIG]

(B) Hardened steel | ®H3IRPpd T

(C) Drop forged steel | ETUWW
(D) Chrome vanadium steel | Waén%mqsmm

Correct Answer : C

(A) Positive error | Wﬁ%
(B) Negative error | Wﬁ%
(C) Systematic error | ﬁl@ﬁ%

(D) Zero error | Q]Fq_a'[%

Correct Answer : A

(50). How much distance is moved by spindle in one rotation of thimble of outside
micrometer? | STRI ATEshIHIex H FUTTd o1 Ueh TRT A g IR RS fave

3 §gdl g2




(A) 0.01lmm
(B) 0.05mm
(C) 0.5mm
(D) 1mm

Correct Answer : C



